ALGEBRA 1 exrenc R

Titolo nota

04/09/2007

©

w JLo:aLCu u‘h‘w\_& nom JULO-*QLQLJ -4

w? = -1 = W,4 =4 ’“:A’li}(—t) :’A“j(wv)-@

W Adu 44-—0&;\‘«\0_ FJ\,CWQHJA.

4
U\)“:}:~i = W =4

W/_T) &u =174 lerj :?%w)
4

¢(4) =¢



143
T?—lgfz(’?(-—wk) :[ﬂf (’)(»u)k)i] :‘(’XM ")"'3
k-~ \ e =1

@ A =2(z1)(x-2)(2-3)
P(x) = A(u)@(?() + R(?(,)

t /
dxz,g,Q(fx) <3
A(%)co %‘»‘0/4/2/3 - .

Pl(x)=R(x) 120,123 -
R(o)z2 R(1)=4 r(2)=6 R(3)=5¢




R(x) = ax®iby’«cxsd

(R<O\: 0-0o+b.orc o+d 2

R(1)=a 1 +by+cisd =4

R(2)-a-g b drc-2+d =6

R( = 54

R(x) < a A (n-1)(n~2) + éz(x-ﬂ(w-g) 4c %(mrz)(%ﬂ
+d (xa)(x-2)(x-3)

Q(%) —o-2x = B(a) = x (2 )(x-2) §

))




P

p(o)=2 =5 P(a) = 24 % Py(x)
p()=¢ = P(()=2+1-P(1)=2+P (1) =>P()=2
Pu(1) =2=) () = 2 4(=—1)P.(2)

P(x) = R(*) + 4(x) @ (=)

@ dsmnade  wododh 2 (ul;odZ)

P(o)-31 (unod Z) Se v e Pouv: P () ';P/O) =1 > P(n)to

tzn (wod ) = P(2) 2p(9) (wed n)
) - Foun” s Zauy™ =0(5) (mod




P('f%)i*{ (wc(Z) 24 “Q‘Q(A\’)FQ/I/: P(M)EP(/Q)E/[ - -
@ 9’—4’15'%7‘Z——6{l+§*4
i+i:L = QLB :i => ab :ZQOQ[Mé)
oo b 2007 a5 250 3 9
N\J
(o5) @5 ekal poribii o [sabmab | Jalozorfers )=
4
QS—-Q—’:) < QO )(\/ )
o -2007) (L-2007)-
ab-a-544 o 4 o=1 o b=4
200272
Cm~4)(5-1) < 1 - 3%.0332
R 2
5 3 7 30



’“’5(“2‘{’2) +he (b°-¢°) +co~(czvof)l sT’I(QﬂS'Zc?)Z
a -5 — LHS =0

LS :I(Q .J:.)([; —c )(o,'c)cov-ﬂo +C/\l

\

(abe) =|(-€)(-§7) - (1-§°)]
Covgc) KO( §)(> - §) (- §()/ =lx4 /: =




(2 -£8)x—4)

-1 = (n-g)(x-§2)

/\

obe = (2




